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struct List {
int data ;
struct List* next ;

| struct List* cons( int x , struct List* n ) {
| struct List* ans ;
| ans = (struct List*)malloc(sizeof (struct List)) ;
| if ( ans '= NULL ) {
| ans->data = x ;
void print( struct List* p ) { | ans->next = n ;
for( ; p != NULL ; p = p->next ) | }

printf( "Yd " , p->data ) ; | return ans ;
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}

)

printf( "\n" ) ; }

int uniq( struct List* p ) {
struct List* pl ;
for( pl = p ; pl != NULL ; pl = pl->next )
if ( find( pl->next , pl->data ) )

int find( struct List* p , int x ) {
if ( p == NULL ) {
return O ;

} else { return O ;
printf( "%d:%d\n" , p->data , x ) ; return 1 ;
""""""""""""""""""""""""""""""""""" | >
if ( p->data == x ) |
return 1 ; | void main() {
else | struct List* top = cons(l,cons(2,cons(2,NULL))) ;
return find( p->next , x ) ; | printf( "%d\n" , uniq( top ) ) ;
} | } ~oommmm s e s e m e e
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void main() {
struct List* pl cons( 1, cons( 2 , cons( 3 , NULL ) ) ) ;

struct List* p2 = cons( 2 , cons( 4 , cons( 3 , NULL ) ) ) ;

struct List* p3 = set_product( pl , p2 ) ;

print( p3 ) ; // 2,3 ZFR (BRIEFIZMDERN)

}
struct List* set_product( struct List* pl , struct List* p2 ) {
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1. (B) AX w2 (B) LTI A ET b LW, 4 XFTRET X, (2)

2. 777 LD (C), @), H) IZSXTDbLWLHEZEZ X, (3x3)
3. a7 LD (D), (E), (F) DEEZEZ L, (3x3)

int stack[ 10 ] ; /*x (A) %/ | struct List*top = NULL ; /* (B) */
int sp = 0 ; | struct List**tail = &top ;
|
|

void push( int x ) { void put( int x ) {

*tail = cons( x , NULL )(;)
~~~~~~~~~~~~~~~~ &
 aiietatataiaiatataiateiataiaiatat e 3 3 tail = &( (*tail)->next ) ;)
~~~~~~~~~~~~~~~~~~ b
int pop() {
return stack[ --sp ] ; | int get() {
| atetetatatatatatatetatet (D) | struct List* d = top ;
void main() { int ans = ;
push() ; ! TEmTEmmossssssss (@3
push(2) ; top = H
push(3 ; | TETmmosoosooses ()3

~
~
w

free( d ) ;
return ans ;

printf( "%d\n" , pop(Q ) ;
printf( "%d\n" , pop() ) ; // 2

}
put(4) ; put(5) ; put(6) ;
printf( "%d\n" , get() ) ; // 4 | ((HFRDOEIZEM)) (1x2)
printf( "%d\n" , getO) ) ; // 5
} W » (B) ___________
((FLDEIZER)) (3x3)
(€) » (B) o ___ » (F) o _____
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top si ze Opo]i_ nté] 3 next

@_’|3 |43|21|68|' |Q| 44.0 struct PointList {
F__________J

int si ze ;4
|2|74|92|' | |Q| 83.0 } .Isﬁuct Poi nt Li st * ﬁglxtntg ]

| 4 |97|39|88|59|><| 70.75

void print_max_mean( struct PointList* top ) {
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